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How do you find the distance (length)
between two points on a number line?
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Using Coordinate Geometry:

The Distance Formula:
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For Examples 1 and 2:
(1) Plot points A and B, and T (the vertex of the right triangle).
(2) Find AT, BT, and AB.

Ex 1. A(4,5) B(-1, 2)
Ay AT= 57X BT=46D

Ex 2: A(-3, -3) B(7, 1)

ATz 2 BT=1-03)
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Ex 3: A(9, -4) B(1,8) Find AB only.
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Using Coordinate Geometry:

The slope of the line containing two points (.\‘, Y ) and (xga,}’z) :
Ay V=V
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Find the slope of . E

Ex1: A(-3,7) B(2,5) Ex 2. A(1/2, 3) B(-1,2/3)
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Algebra Review: Do you remember how to write the equation
of a line in slope-intercept form?

What information do we need to write a
linear equation in Slope-intercept Form?

y=mx+b

We need two pieces of information to write the equation.

¥ 1. Slope 2. y-coordinate of the y-intercept

Using Slope:
Lines with the same slope are parallel.

Lines with opposite reciprocal slopes are perpendicular.

Write the equation of the line described in slope-intercept form.

I. Passes through (2, 0) 2. Passes through (2, 0)
and is parallel to and is perpendicular to
3x -2y =5. vy ) 3x -2y =5.
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Write the equation of the line with the given information.
Ex 1: m = 2 and passes through (1, 0)
¢ (1,0)is NOT the y-intercept!
¢ (1,0) must be asolution toy = mx + b.

® Substitute 2 for m, 1 for x, O for y, and solve for b.
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Ex 2: Passes through both (-2, 1) and (2, 5)

® Find the slope first.
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Substitute 1 for m, -2 for x, 1 for y, and solve for b.
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Assignment #39

13-1 The Distance Formula
p. 523-527 CE #4-10 and WE #1-12, 27, 28
13-2 Slope of a Line

p. 529-533 CE #1-6 and WE #3-15
p. 536-537 CE #1-9 and WE #7-10



